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QUESTION 1

Which Layer 2 mechanism should be used to authenticate wireless or wired users before allowing them access to
network resources? 

A. 802.1X 

B. MIMO 

C. 802.1Z 

D. WPA 

Correct Answer: A 

 

QUESTION 2

A network administrator is using Intelligent Management Center (IMC). Which protocol must the networkadministrator
configure to correctly identify HP devices when performing auto discovery? 

A. telnet 

B. LLDP 

C. SSH 

D. SNMP 

Correct Answer: D 

 

QUESTION 3

A network administrator has an HP Comware switch that is configured with OSPF. The network administrator views the
routing table and sees that a default route was learned from an OSPF neighbor (10.1.1.1). However, the network
administrator wants to override this action and use a different neighbor (10.1.1 2) for the default route. 

The network administrator configures this command: 

[Comware] ip route-static 0.0.0.0 0 10.1.1.2 

After configuring the command, the network administrator examines the routing table and notices that the original
neighbor\\'s default route is still in the routing table, but the static route is missing. 

What is the cause of this problem? 

A. OSPF routes have a lower precedence value 

B. The ip default-gateway command must be used when creating a default route 

C. Only one routing protocol can be operational on a Comware device 
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D. The static route has a syntax mistake 

Correct Answer: A 

 

QUESTION 4

Refer to the exhibit. 

A network administrator is managing the configuration files on an HP Provision switch and executes the commands
shown in the exhibit. What is the probable cause of the error message when the network administrator tries to copy the
file? 

A. The flash memory in the switch is full and supports no more files. 

B. The copy command should only be used to manage operating systems. 

C. No empty configuration memory slots exist on the switch. 

D. The copy command contains a syntax error. 

Correct Answer: C 

 

QUESTION 5

A network administrator is expanding part of the data center in a hospital network. Three new racks of equipment need
to be added, with an HP Comware 5820 series switch at the top of each rack. The Comware 5820 series switch needs
to connect back to two core Comware 12500 switches using 10Gb connections. The distance between the three racks
and the Comware 12500 switches is approximately 40 meters; however, the network administrator is concerned about
electromagnetic and other types of interferences to electrical signals. 

Which solutions protect against interference and are cost-effective for this scenario? (Select two.) 

A. 10GBase-ZR 

B. 10GBase-SR 
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C. 10GBase-ER 

D. 10GBase-LX4 

E. 10GBase-T 

Correct Answer: BD 
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